# On a problem of Bourgain concerning the L<sup>1</sup>-norm of exponential sums

Christoph Aistleitner\*

#### Abstract

Bourgain posed the problem of calculating

$$\Sigma = \sup_{n \ge 1} \sup_{k_1 < \dots < k_n} \frac{1}{\sqrt{n}} \left\| \sum_{j=1}^n e^{2\pi i k_j \theta} \right\|_{L^1([0,1])}.$$

It is clear that  $\Sigma \leq 1$ ; beyond that, determining whether  $\Sigma < 1$  or  $\Sigma = 1$  would have some interesting implications, for example concerning the problem whether all rank one transformations have singular maximal spectral type. In the present paper we prove  $\Sigma \geq \sqrt{\pi}/2 \approx 0.886$ , by this means improving a result of Karatsuba. For the proof we use a quantitative two-dimensional version of the central limit theorem for lacunary trigonometric series, which in its original form is due to Salem and Zygmund.

### 1 Introduction and statement of results

For any  $n \ge 1$ , set

$$\Sigma_n = \sup_{k_1 < \dots < k_n} \frac{1}{\sqrt{n}} \left\| \sum_{j=1}^n e^{2\pi i k_j \theta} \right\|_1,$$

where the supremum is taken over all sets of n distinct positive integers, and the norm is the  $L^1$  norm on the unit interval. Furthermore, set

$$\Sigma = \sup_{n \ge 1} \Sigma_n.$$

The problem of calculating  $\Sigma_n$  and  $\Sigma$  can be seen as the counterpart of the problem asking for optimal *lower* bounds for the  $L^1$  norm of trigonometric sums. Littlewood [13, p. 168] conjectured that there exists a constant c such that for any distinct positive integers  $k_1, \ldots, k_n$ the inequality

$$\left\|\sum_{j=1}^{n} e^{2\pi i k_j \theta}\right\|_1 \ge c \log n \tag{1}$$

<sup>\*</sup>Department of Applied Mathematics, School of Mathematics and Statistics, University of New South Wales, Sydney NSW 2052, Australia. e-mail: aistleitner@math.tugraz.at. The author is supported by an Erwin Schrödinger Fellowship of the Austrian Science Fund (FWF).

MSC 2010: 42A05, 33B10

keywords:  $L^1$  norm, exponential sums, trigonometric polynomials

holds. This conjecture was confirmed in 1981 by Konyagin [16] and, independently, McGehee, Pigno and Smith [17]. It is easily seen that (1) is optimal (up to the value of the constant).

The problem of calculating  $\Sigma$  appears in a paper of Bourgain [6], in the context of his criterion for determining the maximal spectral type of rank one transformations. Deciding whether  $\Sigma < 1$  or  $\Sigma = 1$  would be a major step towards confirming or disproving the conjecture of Klemes and Reinhold [15], asserting that *all* rank one transformations have singular spectral type. Bourgain [6, Proposition 2] proved that

$$\Sigma_n \le 1 - \frac{c \log n}{n}.$$

The strongest lower bound for  $\Sigma$  until now is, as far as I know,  $\Sigma \geq 1/\sqrt{2} \approx 0.707$ , which is implicit in a Theorem of Karatsuba. In [14, Theorem 1], he proved the following: let  $k_1, \ldots, k_n$  be distinct positive integers, and let K(n) denote the number of solutions of the Diophantine equation  $k_{j_1} + k_{j_2} = k_{j_3} + k_{j_4}$ ,  $1 \leq j_1, j_2, j_3, j_4 \leq n$ . Then

$$\frac{1}{\sqrt{n}} \left\| \sum_{j=1}^{n} e^{2\pi i k_j \theta} \right\|_1 \ge \frac{n}{\sqrt{K(n)}}.$$
(2)

Here the minimal possible value of K(n) is 2n(n-1) + n, which implies

$$\Sigma \ge \sup_{n \to \infty} \frac{n}{\sqrt{2n(n-1)+n}} = 1/\sqrt{2}.$$

Karatsuba's result, relating the  $L^1$  norm of exponential sums to the number of solutions of certain Diophantine equations, is of particular interest when there are many solutions of these Diophantine equations (which yields a weaker lower bound in (2); see also [5, 8, 12]). In contrast, we will construct a rapidly increasing sequence (for which such Diophantine equations have very few solutions), and use this sequence to improve the lower bound for  $\Sigma$ . More precisely, our main result is the following theorem.

#### Theorem 1.

$$\Sigma \geq \frac{\sqrt{\pi}}{2} \approx 0.886.$$

For the proof we use a quantitative two-dimensional version of the central limit theorem for lacunary trigonometric sums, which in its original form is due to Salem and Zygmund [19]. More precisely, we will show that for the sequence  $k_j = 8^j$ ,  $j \ge 1$ , we have

$$\lim_{n \to \infty} \frac{1}{\sqrt{n}} \left\| \sum_{j=1}^{n} e^{2\pi i k_j \theta} \right\|_1 = \frac{\sqrt{\pi}}{2}.$$
(3)

Choosing our sequence  $(k_j)_{j\geq 1}$  in such a way that it satisfies the Hadamard gap condition  $k_{j+1}/k_j \geq q > 1$  for the growth factor q = 8 is just to simplify our proofs; any q > 1 would be sufficient. Furthermore it is known that the central limit theorem for trigonometric series even holds for all sub-lacunary series satisfying

$$\frac{k_{j+1}}{k_j} \ge 1 + \frac{c_j}{\sqrt{j}} \quad \text{for } c_j \to \infty$$

(Erdős [9]), and in a certain probabilistic sense it also holds for "almost all" slowly growing sequences (see Berkes [4] and Fukuyama [10, 11] for details). This means that it is very likely that we could prove (3) for many other sequences  $(k_j)_{j\geq 1}$ , and we take the specific sequence  $k_j = 8^j$ ,  $j \geq 1$ , just for the sake of simplicity. It should be noted that the central limit theorem for lacunary trigonometric series already appeared in the context of Bourgain's criterion for the spectral type of rank one transformations in a paper of El Abdalaoui [7] (see also [3]).

### 2 Preliminaries

**Lemma 1** ([2, Lemma 2]). Let  $P_1, P_2$  be probability measures on  $\mathbb{R}^2$ , and write  $p_1, p_2$  for the corresponding characteristic functions. Then for all  $T_1, T_2, \delta_1, \delta_2, x, y > 0$ 

$$|P_1^*([-x,x] \times [-y,y]) - P_2^*([-x,x] \times [-y,y])| \\ \leq xy \int_{(s,t) \in [-T_1,T_1] \times [-T_2,T_2]} |p_1(s,t) - p_2(s,t)| \ d(s,t) \\ + xy \left(\delta_1^{-1}\delta_2 \ \exp\left(-T_1^2\delta_1^2/2\right) + \delta_1\delta_2^{-1} \ \exp\left(-T_2^2\delta_2^2/2\right)\right),$$

where

$$P_1^* = P_1 \star H, \quad P_2^* = P_2 \star H$$

and H is a two-dimensional normal distribution with density

$$(2\pi\delta_1\delta_2)^{-1} e^{-\delta_1^2 u^2/2 - \delta_2^2 v^2/2}$$

We will use the classical trigonometric formulas

$$\sin x \sin y = \frac{\cos(x-y) - \cos(x+y)}{2}, \cos x \cos y = \frac{\cos(x-y) + \cos(x+y)}{2}, \sin x \cos y = \frac{\sin(x-y) + \sin(x+y)}{2}.$$
(4)

We will also use the fact that for a random variable Z having two-dimensional normal distribution with expectation vector (0,0) and covariance matrix diag $(\sigma^2, \sigma^2)$  we have

$$\mathbb{E}|Z| = \sqrt{\frac{\pi\sigma^2}{2}}.$$
(5)

## 3 Proof of Theorem 1

Our proof is based on the method of Salem and Zygmund in [19], utilizing characteristic functions, but additionally considering sine- and cosine-functions simultaneously and finally, using the smoothing inequality in Lemma 1, giving a quantitative estimate for the deviation between the distribution of our normalized lacunary sum and the normal distribution. It would also be possible to prove the convergence of the distribution of the normalized sums  $\sum e^{2\pi i k_j \theta}$  to a complex normal distribution, but since working with complex distributions is rather unusual and would not yield any simplification or shortening, we prefer to use the two-dimensional real argument instead.

For one-dimensional lacunary series, quantitative versions of the Salem-Zygmund central limit theorem have already been proved, based on an approximation by martingale differences and an almost sure invariance principle of Strassen (see [1] for details). Recently this martingale approach has been extended to a multi-dimensional setting by Moore and Zhang [18] for proving the law of the iterated logarithm for lacunary series. However, for our purpose the classical method of using characteristic functions seems to be much easier.

Let  $n \ge 1$  be given. We set

$$k_j = 8^j, \qquad 1 \le j \le n,$$

and, for  $\theta \in [0, 1]$ ,

$$\mu(\theta) = \frac{\sum_{j=1}^{n} \sin 2\pi k_j \theta}{\sqrt{n}}, \qquad \nu(\theta) = \frac{\sum_{j=1}^{n} \cos 2\pi k_j \theta}{\sqrt{n}}.$$

In the following paragraph, we will understand the symbol " $\mathbb{E}$ " with respect to the probability space  $([0,1]), \mathcal{B}([0,1]), \lambda)$ , where  $\lambda$  is the Lebesgue measure. We write  $\exp(x)$  for  $e^x$ . For  $s, t \in \mathbb{R}$  set

$$\varphi(s,t) = \mathbb{E}(e^{is\mu + it\nu})$$

Using the classical equality

$$e^{ix} = (1+ix)e^{-x^2/2+w(x)}, \quad \text{where } |w(x)| \le x^3,$$

we get

$$\begin{aligned} &e^{is\mu+it\nu} \\ &= \left(\prod_{j=1}^{n} \exp\left(\frac{is\sin 2\pi k_{j}\theta}{\sqrt{n}}\right)\right) \cdot \left(\prod_{j=1}^{n} \exp\left(\frac{it\cos 2\pi k_{j}\theta}{\sqrt{n}}\right)\right) \\ &= \underbrace{\left(\prod_{j=1}^{n} \left(1 + \frac{is\sin 2\pi k_{j}\theta}{\sqrt{n}}\right)\right) \cdot \left(\prod_{j=1}^{n} \left(1 + \frac{it\cos 2\pi k_{j}\theta}{\sqrt{n}}\right)\right)}_{=:\alpha(s,t)} \times \\ &\times \exp\left(\sum_{j=1}^{n} \left(-\frac{(s\sin 2\pi k_{j}\theta)^{2} + (t\cos 2\pi k_{j}\theta)^{2}}{2n} + w\left(\frac{s\sin 2\pi k_{j}\theta}{\sqrt{n}}\right) + w\left(\frac{t\cos 2\pi k_{j}\theta}{\sqrt{n}}\right)\right)\right) \\ &= \alpha(s,t) \exp\left(-\frac{s^{2} + t^{2}}{4} + \sum_{j=1}^{n} \left(\frac{(s^{2} - t^{2})\cos 4\pi k_{j}\theta}{4n} + w\left(\frac{s\sin 2\pi k_{j}\theta}{\sqrt{n}}\right) + w\left(\frac{t\cos 2\pi k_{j}\theta}{\sqrt{n}}\right)\right) \\ &= \alpha(s,t) \exp\left(-\frac{s^{2} + t^{2}}{4} + \beta(s,t)\right). \end{aligned}$$

Note that

$$|\alpha(s,t)| = \left(\prod_{j=1}^{n} \left(1 + \frac{(s\sin 2\pi k_j\theta)^2}{n}\right)^{1/2}\right) \cdot \left(\prod_{j=1}^{n} \left(1 + \frac{(t\cos 2\pi k_j\theta)^2}{n}\right)^{1/2}\right)$$

$$\leq \prod_{j=1}^{n} \exp\left(\frac{(s\sin 2\pi k_{j}\theta)^{2} + (t\cos 2\pi k_{j}\theta)^{2}}{2n}\right)$$
  
=  $\exp\left(\frac{s^{2} + t^{2}}{4} + \sum_{j=1}^{n} \frac{(t^{2} - s^{2})\cos 4\pi k_{j}\theta}{4n}\right).$  (6)

Furthermore, by construction of the sequence  $(k_j)_{1 \le j \le n}$  we have

$$\mathbb{E}\left(\alpha(s,t)\right) = 1.\tag{7}$$

To see this, note that we have

$$\alpha(s,t) = \sum_{\substack{(\delta_1,\dots,\delta_n)\in\{0,1\}^n,\\ (\hat{\delta}_1,\dots,\hat{\delta}_n)\in\{0,1\}^n}} \left( \left( \prod_{j=1}^n \left( \frac{is\sin 2\pi k_j \theta}{\sqrt{n}} \right)^{\delta_j} \right) \cdot \left( \prod_{j=1}^n \left( \frac{it\cos 2\pi k_j \theta}{\sqrt{n}} \right)^{\hat{\delta}_j} \right) \right),$$

and using the equations in (4) to transform a product

$$\prod_{j=1}^{n} \left( (is\sin 2\pi k_j \theta)^{\delta_j} \left( it\cos 2\pi k_j \theta \right)^{\hat{\delta}_j} \right)$$
(8)

into a sum of trigonometric functions it is easily seen that by the construction of the sequence  $(k_1, \ldots, k_n)_{1 \le j \le n}$  only sine-functions and cosine-functions with nonzero frequency appear in this sum representation of (8), which means that

$$\mathbb{E}\left(\prod_{j=1}^{n}\left(\left(is\sin 2\pi k_{j}\theta\right)^{\delta_{j}}\left(it\cos 2\pi k_{j}\theta\right)^{\hat{\delta}_{j}}\right)\right)=0$$

unless  $(\delta_1, \ldots, \delta_n) = (\hat{\delta}_1, \ldots, \hat{\delta}_n) = (0, \ldots, 0).$ 

Thus

$$\left| \varphi(s,t) - e^{-(s^2 + t^2)/4} \right|$$

$$= \left| \mathbb{E} \left( \alpha(s,t) \exp \left( -\frac{s^2 + t^2}{4} + \beta(s,t) \right) - e^{-(s^2 + t^2)/4} \right) \right|$$

$$(9)$$

$$\left| \mathbb{E} \left( (-s^2 + t^2 + \beta(s,t)) - e^{-(s^2 + t^2)/4} \right) \right|$$

$$= \left| \mathbb{E} \left( \alpha(s,t) \left( \exp \left( -\frac{s^2 + t^2}{4} + \beta(s,t) \right) - e^{-(s^2 + t^2)/4} \right) \right) \right|$$
(10)  
$$= \left| \mathbb{E} \left( \alpha(s,t) e^{-(s^2 + t^2)/4} \left( e^{\beta(s,t)} - 1 \right) \right) \right|$$

$$\leq \mathbb{E}\left(|\alpha(s,t)| \ e^{-(s^2+t^2)/4} \ \left| e^{\beta(s,t)} - 1 \right| \right)$$
(11)

$$\leq \mathbb{E}\left(\left|\exp\left(\sum_{j=1}^{n}\left(w\left(\frac{s\sin 2\pi k_{j}\theta}{\sqrt{n}}\right)+w\left(\frac{t\cos 2\pi k_{j}\theta}{\sqrt{n}}\right)\right)\right)-\exp\left(\sum_{j=1}^{n}\frac{(t^{2}-s^{2})\cos 4\pi k_{j}\theta}{4n}\right)\right|\right)\right|$$

$$\left(|s|^{3}+|t|^{3}\right)=\left(\sum_{j=1}^{n}\left(\sum_{j=1}^{n}\left(t^{2}-s^{2}\right)\cos 4\pi k_{j}\theta\right)-1\right)$$

$$\leq \exp\left(\frac{|s|^3 + |t|^3}{n^{1/2}}\right) - 1 + \mathbb{E}\left(\left|\exp\left(\sum_{j=1}^n \frac{(t^2 - s^2)\cos 4\pi k_j\theta}{4n}\right) - 1\right|\right).$$
(12)

Here (7) was used to get from (9) to (10), and (6) was used to estimate (11). It is easily seen that by construction of  $(k_j)_{1 \le j \le n}$  we have

$$\mathbb{E}\left(\left(\sum_{j=1}^n \cos 4\pi k_j \theta\right)^4\right) \le n^2,$$

which by Markov's inequality gives

$$\lambda\left(x\in[0,1]: \left|\sum_{j=1}^{n}\cos 4\pi k_{j}x\right|\geq n^{3/4}\right)\leq 1/n,$$

and consequently

$$\mathbb{E}\left(\left|\exp\left(\sum_{j=1}^{n} \frac{(t^{2} - s^{2})\cos 4\pi k_{j}\theta}{4n}\right) - 1\right|\right) \\
\leq \exp\left(n^{-1/4}(s^{2} + t^{2})\right) - 1 + \exp\left(s^{2} + t^{2}\right)n^{-1}.$$
(13)

Now let X be a two-dimensional random vector having the same distribution as  $(\mu(\theta), \nu(\theta)), \theta \in [0, 1]$ , let Y be a random vector having two-dimensional normal distribution with expectation vector (0, 0) and covariance matrix diag(1/2, 1/2), and let Z be a random vector having two-dimensional normal distribution with expectation (0, 0) and covariance matrix diag $((\log n)^{-1/8}, (\log n)^{-1/8})$ , such that Z is independent of X and Y. Using (12) and (13) to estimate the deviation between  $\varphi(s, t)$  and the characteristic function of Y, and using Lemma 1 for  $T_1 = T_2 = (\log n)^{1/4}$ , we obtain that for any  $x, y \in \mathbb{R}$ ,  $|x| \leq (\log n)^{1/4}$ ,  $|y| \leq (\log n)^{1/4}$ ,

$$\begin{aligned} \left| \mathbb{P} \left( X + Z \in [-x, x] \times [-y, y] \right) - \mathbb{P} \left( Y + Z \in [-x, x] \times [-y, y] \right) \right| \\ &\leq \left( \log n \right) \left( \exp \left( \frac{2(\log n)^{3/8}}{n^{1/2}} \right) - 1 + \exp \left( \frac{2(\log n)^{1/2}}{n^{1/4}} \right) - 1 + \frac{\exp \left( 2(\log n)^{1/2} \right)}{n} \right) \\ &+ 2(\log n)^{1/2} e^{-(\log n)^{1/4}/2} \\ &\leq c_1 (\log n)^{-1} \end{aligned}$$

for some appropriate constant  $c_1$ . This implies

$$\mathbb{E}\left(|Y+Z| \cdot \mathbb{1}_{|Y+Z| \le (\log n)^{1/4}}\right) \le \mathbb{E}\left(|X+Z| \cdot \mathbb{1}_{|X+Z| \le (\log n)^{1/4}}\right) + c_1(\log n)^{-3/4}$$

Consequently, using (5) and the fact that Y + Z is also normally distributed with expectation (0,0) and covariance diag $(1/2 + (\log n)^{-1/8}, 1/2 + (\log n)^{-1/8})$ , we finally obtain

$$\frac{1}{\sqrt{n}} \left\| \sum_{j=1}^{n} e^{2\pi i k_{j} \theta} \right\|_{1} = \|\mu(\theta) + i\nu(\theta)\|_{1}$$
$$= \mathbb{E}|X|$$
$$\geq \mathbb{E}|X + Z| - \mathbb{E}|Z|$$

$$\geq \mathbb{E} \left( |X + Z| \cdot \mathbb{1}_{|X + Z| \leq (\log n)^{1/4}} \right) - \mathbb{E} |Z|$$

$$\geq \mathbb{E} \left( |Y + Z| \cdot \mathbb{1}_{|Y + Z| \leq (\log n)^{1/4}} \right) - c_1 (\log n)^{-3/4} - \mathbb{E} |Z|$$

$$\geq \mathbb{E} |Y + Z| - \mathbb{E} \left( |Y + Z| \cdot \mathbb{1}_{|Y + Z| > (\log n)^{1/4}} \right) - c_1 (\log n)^{-3/4} - \mathbb{E} |Z|$$

$$\geq \frac{\sqrt{\pi}}{2} - c_2 (\log n)^{-1/16}.$$

for some appropriate constant  $c_2$ . Thus we have established (3), which proves Theorem 1.

### References

- [1] C. Aistleitner and I. Berkes. On the central limit theorem for  $f(n_k x)$ . Probab. Theory Related Fields, 146(1-2):267–289, 2010.
- [2] C. Aistleitner, I. Berkes, and R. Tichy. On the law of the iterated logarithm for permuted lacunary sequences. *Proc. Steklov Inst. Math.*, 276:3–20, 2012.
- [3] C. Aistleitner and M. Hofer. On the maximal spectral type of a class of rank one transformations. *Dyn. Syst.*, 27(4):515–523, 2012.
- [4] I. Berkes. A central limit theorem for trigonometric series with small gaps. Z. Wahrsch. Verw. Gebiete, 47(2):157–161, 1979.
- [5] S. V. Bochkarev. Multiplicative inequalities for the L<sub>1</sub>-norm: applications to analysis and number theory. Tr. Mat. Inst. Steklova, 255(Funkts. Prostran., Teor. Priblizh., Nelinein. Anal.):55–70, 2006.
- [6] J. Bourgain. On the spectral type of Ornstein's class one transformations. Israel J. Math., 84(1-2):53-63, 1993.
- [7] E. H. El Abdalaoui. A new class of rank-one transformations with singular spectrum. Ergodic Theory Dynam. Systems, 27(5):1541–1555, 2007.
- [8] K. M. Éminyan. The L<sub>1</sub>-norm of a trigonometric sum. Mat. Zametki, 76(1):133-143, 2004.
- [9] P. Erdős. On trigonometric sums with gaps. Magyar Tud. Akad. Mat. Kutató Int. Közl, 7:37–42, 1962.
- [10] K. Fukuyama. Pure Gaussian limit distributions of trigonometric series with bounded gaps. Acta Math. Hungar., 129(4):303–313, 2010.
- K. Fukuyama. A central limit theorem to trigonometric series with bounded gaps. Probab. Theory Related Fields, 149(1-2):139–148, 2011.
- [12] M. Z. Garaev. Upper bounds for the number of solutions of a Diophantine equation. Trans. Amer. Math. Soc., 357(6):2527–2534, 2005.
- [13] G. H. Hardy and J. E. Littlewood. A new proof of a theorem on rearrangements. J. London Math. Soc., 23:163–168, 1948.

- [14] A. A. Karatsuba. An estimate for the  $L_1$ -norm of an exponential sum. *Mat. Zametki*, 64(3):465-468, 1998.
- [15] I. Klemes and K. Reinhold. Rank one transformations with singular spectral type. Israel J. Math., 98:1–14, 1997.
- [16] S. V. Konyagin. On the Littlewood problem. Izv. Akad. Nauk SSSR Ser. Mat., 45(2):243– 265, 463, 1981.
- [17] O. C. McGehee, L. Pigno, and B. Smith. Hardy's inequality and the L<sup>1</sup> norm of exponential sums. Ann. of Math. (2), 113(3):613–618, 1981.
- [18] C. N. Moore and X. Zhang. A law of the iterated logarithm for general lacunary series. Colloq. Math., 126(1):95–103, 2012.
- [19] R. Salem and A. Zygmund. On lacunary trigonometric series. Proc. Nat. Acad. Sci. U. S. A., 33:333–338, 1947.